[image: image1.jpg]


[image: image2.wmf]Riello Accessory Kit

RB Gas Booster Accessory

AV Mount & Flexible Connector Kit for RB100/200 Boosters

Kit Code 3000101






	Item
	Description
	Quantity

	1
	DN50 (2”) PN16 Flexible Connector. 250 mm long.
	2

	2
	DN50 (2”) Gasket
	2

	3
	Anti-vibration Mount
	4

	4
	M8 x 25 Hex Head Screw
	4

	5
	M8 Plain Washer
	4

	6
	M16 x 65 Hex Head Bolt
	8

	7
	M16 Plain Hex Nut
	8

	8
	M16 Plain Washer
	16


1





5





6





3





4





2





8





7








